e © 5814 & 5t © B B oM Ul ¥ Y gy
012 <2 s
1 12e 21 [ ] oo Lote 42 NEoA Q. 4. 546+42=13%l8 0|83}0f 409 LIS St
C}. HAO| HIEZX| %S ZO| 7|SE MA|Q.
o[~ o5 1 12 & 5.46:42=0.13
© 0.546+42=0.13
© 5460+42 =130
[ Jea-[]
® 54.6-42=13
( )
[2-3] (A)+(AHAF)E EF2 LxHCE IXHAM
A4tet ZO|CE O ¢hof 52 =& MES
A2 5. Lhe Mol fo| 180} 2 2427
oo o T @ 255 @ 165+15 ® 7.29+9
2. 48+8= =5 F 8= = =[]
@ 0.14+7 ® 4+8
[ ] L Jo T L]
. == 4= = _L_/'.—C)glg _IEO L=t O K| X Oa[-E He C 7
3. 0.28 -4 100.4 100>< 100 6. L} | &O| LIO{EO{X[X]| & A=s BEF 4
L 2A|Q. ( )
® 11+5 @ 27+11
® 74+9 @ 0.28+7
® 4=16




&5 1% BEAg ) 5§!'|:_=| _+_ 5_!_ )
7.[ ] otoj ¥ote A2 WuUOA|Q. 9. Lt Lixd& ROl L+0f BOE W7HX] A Lhst
Al

8. 520|7t 34:42 CtSI} 20| B49 LMo 86.4 [: [:

2 IOHA AAGQICH 345 2327} 100 Ofdl
10091 242 HFROIN AMEH THE2?
4 4 1
3.4+4=?—08+4=?—08x2=%50 =0.85
11 C}g 74t0] S21 22 &0} B2 DAL,

3.2
12) 3624
36
24 =
24
0




@
(&) ]
_Ioll
[
e
Jon
®

12. o5 O 2o 012 =+ U= ANexE =2
AlR.

all
|3

{ 5.13+3 < [] < 952 J

13. 22 Y20 24 AW X2|THK| FOHAIL.

( )

=73 ofzf e0Hm Xxt2| =
2 M SR,

( )

15. Chg Lixdel &S dEdold 2 s/ At

MFA| LEEFLHA| 2.

S




16.

O|7F 75.6mQl MAYHES 21SE SIRUCE M
Aot 29| o7t Zorelx] Eo0jargE A4n
C

18. =off BXQ| Oi2tE ZEE OfetE 2 [
s

0.2kmO| & = ZO[ACt SXY
Otet= Hi=lofM 2tsot=0Hl 1520] 4
M= S8 ==X, ZEHOHK| RY=EXE

M T O|GE MAR.

SHO ESH=I1? ( )

17. =2 HiotE B2, O 22 =5 =AM

2 MAIL.

ot
e

0] 2| B22= 2| 50| £&2
222 1M 2HE0{0f &f. 2| &2
Z10|7} 32.5cmO|™ s HO| 7} 7fof &
2[22| ZO0|= YOpX|?

: 325cme= 1cm?t 3257|0F O|Zd& 5T0|
£Z0| L0 ZHX[H o AFE &
lcmE 658 ZFX|A E|X|?

: Ol 1™ 32.5cme [lemZf 3257 L7t
Sk AtZHO| OemE 65704 ZHX|A|
EM OemE 7HX[A| &= AFLE

4n
k>

o
h

( )

19. XFSXt7F Q12 1L2 2 & U= AZ|o HlgS

HH|2tD SHCh WMXIS AL 3|2S 5LE
56.8kmZ ZICHH 0| XAtEXfo| QIH|= YOOIX|
C

s e AL

Al M7

mjo

= km/L




ol
<F

M._
nol
Ln

LLE

T R

TR0l 2

c}.

b

N
=5l

AR wat 47}

20. 23

r
2l

o
K0
=

5}
Hh

U

TOA| 2.

ojn

CH
=]

0.3

1.2

0.07
0.1

0.28
0.4

46.4

£0|

g






